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QUESTION 1

An operator receives customer complaints from an indoor location. The Issues result from a bad neighbor plan in a
single RAT and frequency network.

Which two optimization processes would you use to resolve the problem? (Choose two.)
A. call trace based neighbor optimization

B. drive test based neighbor optimization

C. PM counter based neighbor optimization

D. prediction based neighbor optimization

Correct Answer: AC

QUESTION 2

Which two use cases are specifically targeted for 5G technology? (Choose two.)
A. multi tabbed Web browsing

B. massive machine-type communications

C. remote controlled machines

D. asynchronous transfer mode backhaul

Correct Answer: BC

QUESTION 3

A user is making a call on an LTE network.

In this scenario, which encoding schemes are used?
A. OFDMA in downlink, COMA in uplink

B. CDMA in downlink, SC-FOMA in uplink

C. SC-FDMA in downlink, OFDMA in uplink

D. OFDMA in downlink, SC-FDMA in uplink

Correct Answer: D

QUESTION 4
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What is a benefit of soft handover?

A. It decreases channel element usage.

B. It ensures successful handover among detected cells.
C. It reduces the connected user load of neighboring cells.
D. It decreases interference.

Correct Answer: B

QUESTION 5

Which identifier is used for locating a UE in a standalone LTE network?
A. RAC

B. TAC

C.LAC

D. URAC

Correct Answer: B
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